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Instructions: Read each question carefully and select the correct answer.

1. Solve the system of equations.

4x +5y =3
2x+y=0
A 33
B [#7)
cC. (-1
p. [

2. A possible step toward solving these equations by addition could be:

4y -6x =11
-8x -4y =13
A. adding -6x and -8x
B. multiplying 4y - 6x = 11 by -3 and -8x - 4y =13 by 3
C. subtracting 13 from 11
D. plugging x = 1/7 into the ETBfB347sub( )]TTET EMI /P AVIDBDt912 Tf1 0 0 1 83.664 285.5324.AVID>B[2
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Solve this system of equations:

12x - 5y =30
y=2X-6

A. X =5/6,y=-4
B. X=2,y=-6/5
C. x=0,y=6
D. x=0,y=-6
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